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a7 U—FO N A7v7" W3AT/7 7o MEM O KHE| OV IOTER

EONH| BEICESRE = cm mm WX DELE
L5 27 12 20 B B

fEESETE (W/C=55%
(W ZoeE(v) CTHROERICEY v = 10 %
(2) Bl A 5RE (m)

_ 1-SL —

m1 = . 5.V = 33.8 N/mf
100
koT m =338 Nuf

(3)KkEA FEEW/C) m -8.33 + 21.60 X C/W

W/C 21.60 = (33.8 + 8.33) X 100 = 51 % = [55% (_-[RfH) ]

SW/C = 51 %
(4) BArKE (W) YTHOERICEY W = 173 ke/m
(5)HENfE XA FE(C) C =W+~ (W/C) X 100 = 173 = 51 X 100 = 339 kg/m
Cv= C + B = 339 - 3.04 = 112 L/m
(6)Z=XRE(A) A = 4.5 % X 1000 = 45 L/m

(TEMCHBME(G) NYUIFOFEREICLY H»IAFHE = 0.558 m/m EFEE = 61.0 %
Gv = 0.558 X 1000 X 61.0 = 100 = 340 L/m
Glv = Gv X 60.0 % = 204 L/m Gl= GIvXEEEE = 204 X 2.72 = 555 kg/m
G2v = Gv X 40.0 % = 136 L/m G2= GYXFEEHEE = 136 X 2.70 = 367 kg/m
(8) HATHEHME(S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 670 = 330 L/m
Slv = Sv X 40.0 % = 132 L/m S1= SIvXFREEE = 132 X 2.59 = 342 kg/m
S2y = Sv X 60.0 % = 198 L/m S2= SovXFEEIERE = 198 X 2.55 = 505 ke/m

(9)HMEME(s/a) s/a = Sv ~ (Gv+Sv) X 100 = 49.3 %
(10) HEALIEFnAIE (Ad) Ad = C X g = 339 X 0.85 % = 2.88 kg/m
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